Analysis of Semilocal and Order of Convergence on Riemannian Manifolds for Secant Method

Mr. Vipul Snehi^{1,a)} and Mr. Prabhat Kumar² ¹Assistant professor University Department of Mathematics Lalit Narayan Mithila University, Darbhanga, Bihar ²Research Scholar University Department of Mathematics Lalit Narayan Mithila University ,Darbhanga, Bihar

Abstract

a)Corresponding author:xxxxxxxx

Article Info Page Number: 1988-1994 Publication Issue: Vol. 71 No. 4 (2022)

Article History Article Received: 25 March 2022 Revised: 30 April 2022 Accepted: 15 June 2022 Publication: 19 August 2022 This paper deals the analysis of semilocal and order of convergence on Riemannian Manifolds for Secant Method. Furthermore, it has divided difference geodesic points on euclidean spaces. Also, we have used the fact that ω is monotonic in its two arguments under invertible. This paper deals the analysis of semilocal and order of convergence on Riemannian Manifolds for Secant Method. Furthermore, it has divided difference geodesic points on euclidean spaces. Also, we have used the fact that ω is monotonic in its two arguments under invertible.

Keywords: Riemannian Manifolds, geodesic points, invertible.

Introduction

Let R_M be a Riemannian manifold and λ a graphical line in R_M and $[s, s + h] \subset dom(\lambda), X \in \chi(R_M)$ is belongs to the field R_M . A vector space has defined as follows in the following linear combination:

$$V: L_{\lambda(s+h)}R_M \to L_{\lambda(s+h)}R_M$$

is the Newton difference of operator of initial variable X on $\lambda(s)$, $\lambda(s+h)$ in $\lambda'(s)$ it contains
$$V(F_{\lambda s,s} \underset{+}{h}(\lambda'(s))) = \frac{1}{k}(X(\lambda(s+h)) - F_{\lambda,s,s} \underset{+}{h}(X(\lambda(s)))).$$
(1)

Let $f, g \in M$, [f, g; X] be a divided difference (1) with λ a neighboring values $\lambda(s) = f$ and $\lambda(s+h) = g$, $[s, s+h] \subset dom(\lambda)$. let R_M be and Eulerian with neighboring values $x, y \in R_M$ is defined by

$$\lambda(s) - x - s(y - x) = 0, \qquad s \in \mathbb{R}$$

Then (1), let s = V and h = 1, we have

$$[x, y; X](y - x) = V(y - x) = X(y) - X(x),$$

Therefore, the solutions is (1) for F = X. Hence, (1).

Let $\lambda : \mathbb{R} \to R_M$ be a graphical fit, the line parallel in λ , given by F_{λ} , ... and calculated by

$$F_{\lambda,a,b}: L_{\lambda(a)}R_M \to L_{\lambda(b)}R_M$$
$$v \to V(\lambda(b)),$$

which belongs to *a*, *bin*R; here *V* is a variable under both magnitude and direction in λ with $\nabla_{\lambda'(t)}V = 0$ and $V(\lambda(a)) = v$.

Let $F_{\lambda,a,b}$ is 1-1, with $F_{\lambda,a,b}$ be straight lines at slope $L_{\lambda(a)}R_M$ and $L_{\lambda(b)}R_M$. Its reciprocal has λ in $V(\lambda(b))$ to $V(\lambda(a))$. Let $F_{\lambda,a,b}$ be identical lies $L_{\lambda(a)}R_M$ and $L_{\lambda(b)}R_M$ for any $a, b, d \in \mathbb{R}$ the following conditions:

$$F_{\lambda,b,d} \circ F_{\lambda,a,b} = F_{\lambda,a,d}, F_{\lambda,b,a}^{-1} = F_{\lambda,a,b}, \text{ and } F_{\lambda,a,b}(\lambda'(a)) = \lambda'(b).$$

Vol. 71 No. 4 (2022) http://philstat.org.phc 1988

Preliminaries

Let us consider the equation

$$v_n = -[f_{n-1}, f_n, X]^{-1}(X(f_n))$$

$$I_{f_{n+1}} = \exp_{f_n}(v_n),$$
(2)

for each n = 1, 2..., with f_0 and f_1 given. Let us assume that $\omega : \mathbb{R}_+ \times \mathbb{R}_+ \to \mathbb{R}_+$ be angles. Here R_M is vector identity and $\Omega \subset R_M$ is interval at open. The variable $X \in X(R_M)$ true ω -properties in Ω ,

$$\|[f_1, f_2, X] \circ (f_{\lambda,0,1}) - (f_{\lambda,0,1}) \circ [g_1, g_2, X]\| \le \omega(d(f_1, f_1), d(f_2, f_2))$$
(3)

for all $f_1, f_2, g_1, g_2 \in \Omega$, here λ is a neighboring values $\lambda(0) = g_2$ and $\lambda(1) = f_2$.

Let Ω be Riemannian manifold on an open connected of R_M and $f_0, f_{-1} \in \Omega$, we have

$$a(u) = \frac{\beta \omega(\alpha, u)}{1 - \beta \omega(\alpha, u)}, \quad b(u) = \frac{\beta \omega(u, 2u)}{1 - \beta \omega(\alpha + u, u)}, \quad c(u) = \frac{\beta \omega(2u, 2u)}{1 - \beta \omega(\alpha + u, u)},$$

where

$$\alpha = d(f_0, f_{-1})$$
 and $\beta = \|[f_{-1}, f_0, X]^{-1}\|.$ (4)

Lemma 1. Prove that

$$d(f_3, f_0) \le (ba + a + 1)\eta < R_1$$

where a = a(R) and b = b(R).

Proof. We first prove that $f_1 \in B(f_0, R)$. In fact, by (2) one has

$$v_0 = -[f_{-1}, f_0, X]^{-1}(X(f_0))$$

$$f_1 = \exp_{f_0}(v_0),$$

hence, $\lambda_0(t) = \exp_{f_0}(tv_0)$,

$$d(f_0, f_1) = \int_0^{1} \|\lambda_0'(t)\| dt$$

= $\|v_0\|$
= $\|[f^{-1}, f_0, X]^{-1}(X(f_0))\|.$

 $d(f_0, f_1) \leq \eta < R.$

From hypothesis (ii), thus, we have

Conversely, the ω -properties (3) satisfies

 $\| [f X]^{-1} \| \le$

$$\|F_{\lambda_0,0,1} \circ [f_{-1}, f_0, X] - [f_0, f_1, X] \circ F_{\lambda_0,0,1}\| \le \omega(d(p_0, f_{-1}), d(f_1, f_0)) \le \omega(\alpha, R),$$
(6)

from (4), $d(f_0, f_1) < R$, and the fact that ω is non-decreasing in its two arguments. Since the parallel transport is an isometry, it follows by hypothesis (ii) that

$$\|F_{\lambda_0,0,1} \circ [f_{-1}, f_0, X] - [f_0, f_1, X] \circ F_{\lambda_0,0,1}\| < \beta \stackrel{1}{=} \frac{1}{\|(F_{\lambda_0,0,1} \circ [f_{-1}, f_0, X])^{-1}\|} \cdot$$

Thus, a classical result of linear operator theory, see Theorem 2.3.5 in [38], shows that $[f_0, f_1, X] \circ F_{\lambda_0, 0, 1}$ is invertible and moreover, $\|[f_{-1}, f_0, X]^{-1}\|$

$$\underbrace{ \begin{bmatrix} 0 & & & \\ 0, & 1, \end{bmatrix}}_{0, & 1} = \| \begin{bmatrix} f & & & \\$$

Vol. 71 No. 4 (2022) http://philstat.org.phc 1989

(5)

Mathematical Statistician and Engineering Applications ISSN: 2094-0343 2326-9865

We conclude from (4) and (6) that

$$\|[f, f, X]^{-1}\| = \frac{\beta}{1 - \beta \omega(\alpha, R)}.$$
(7)

and (6) we get,

$$\begin{aligned} \|X(f_1)\| &= \|([f_0, f_1, X] \circ F_{\lambda_0, 0, 1} - F_{\lambda_0, 0, 1} \circ [f_{-1}, f_0, X])(v_0)\| \\ &\leq \|([f_0, f_1, X] \circ F_{\lambda_0, 0, 1} - F_{\lambda_0, 0, 1} \circ [f_{-1}, f_0, X])\|\|v_0\| \\ &\leq \omega(\alpha, R)\|v_0\| \end{aligned}$$

The following procedure shows at $d(f_1, f_2) \le ad(f_0, f_1)$ and $d(f_0, f_2) < R$. To prove the first inequality, we use (2) toobtain

$$v_1 = -[f_0, f_1, X]^{-1}(X(f_1))$$

 $f_2 = \exp_{f_1}(v_1),$

which gives, by (7) and (8),

$$d(f_{2}, f_{1}) = \|v_{1}\|$$

$$\leq \|[f_{0}, f_{1}, X]^{-1}\|\|X(f_{1})\|$$

$$\leq \|[f_{0}, f_{1}, X]^{-1}\|\|X(f_{1})\|$$

$$\leq \frac{\beta\omega(\alpha, R)}{1 - \beta\omega(\alpha, R)}d(f_{1}, f_{0}).$$

$$d(f_{2}, f_{1}) \leq ad(f_{1}, f_{0}), \qquad (9)$$

By definition of *a* it follows that

which gives us that

$$d(f_2, f_0) = d(f_2, f_1) + d(f_1, f_0)$$

$$\leq (a+1)d(f_1, f_0)$$

$$< (a+1)\eta.$$
(10)

By definition of R, we obtain the second inequality. Thus

$$F_2 \in \mathcal{B}(f_0, R). \tag{11}$$

Now, we consider a sequence of geodesics (ϕ_n) satisfying $\phi_n(0) = f_0$, $\phi_n(1) = f_n$, and $\phi_1 = \lambda_0$. We conclude from (3), (4), (11), and $d(f_0, f_1) < R$ that

$$\begin{split} \| [f_1, f_2, X] \circ F_{\phi_2, 0, 1} - F_{\phi_2, 0, 1} \circ [f_{-1}, f_0, X] \| &\leq \omega(d(f_1, f_{-1}), d(f_2, f_0)) \\ &\leq (d(f_0, f_1) + d(f_0, f_{-1}), d(f_2, f_0)) \\ &\leq \omega(R + \alpha, R), \end{split}$$

hence that

$$\|[f_1, f_2, X] \circ F_{\phi_2, 0, 1} - F_{\phi_2, 0, 1} \circ [f_{-1}, f_0, X]\| \le \frac{1}{\beta},$$

by hypothesis (ii). Proceeding as in the proof of (7) one obtains that the operator $[f_1, f_2, X]$ is invertible and

$$\|[f, f, X]^{-1}\| = \frac{\beta}{1 - \beta \omega (R + \alpha, R)}.$$
(12)

We claim that $d(f_3, f_2) \leq bd(f_2, f_1)$.

$$X(f_2) = ([f_1, f_2, X] \circ F_{\lambda_1, 0, 1} - F_{\lambda_1, 0, 1} \circ [f_0, f_1, X])(v_1),$$

from which we infer, by using (3) and $d(f_2, f_1) = ||v_1||$, that

$$\begin{aligned} \|X(f_2)\| &\leq \|([f_1, f_2, X] \circ F_{\lambda_1, 0, 1} - F_{\lambda_1, 0, 1} \circ [f_0, f_1, X])\|\|(v_1)\| \\ &\leq \omega(d(f_1, p_0), d(f_2, p_1))d(f_2, f_1) \\ &\leq \omega(d(f_1, f_0), d(f_2, f_0) + d(f_1, f_0))d(f_2, f_1). \end{aligned}$$

Therefore, according to what we have proved above,

$$\|X(f_2)\| \le \omega(R, R+R)d(f_2, f_1) \le \omega(R, 2R)d(f_2, f_1).$$
(13)

Here we have used the fact that ω is non-decreasing in its two arguments.

On the other hand, by (2),

$$v_2 = -[f_1, f_2, X]^{-1}(X(f_2))$$

 $f_3 = \exp_{f_2}(v_2).$

We conclude from (12) and (13) that

$$d(f_{3}, f_{2}) = \|v_{2}\|$$

$$\leq \|[f_{1}, f_{2}, X]^{-1}\|\|X(f_{2})\|$$

$$\leq \frac{\beta\omega(R, 2R)}{1 - \beta\omega(R + \alpha, R)}d(f_{2}, f_{1}),$$

$$d(f_{3}, f_{2}) = bd(f_{2}, f_{1}).$$
(14)

hence that,

Finally, by (5), (9), (10), and (14), we deduce that

 $d(f_3, f_0) \le d(f_3, p_2) + d(f_2, f_0)$ $\le b \ d(f_2, f_1) + (a+1)d(f_1, f_0)$ $\le ab \ d(f_1, f_0) + (a+1)d(f_1, f_0)$ $\le (ba + a + 1)\eta,$

whence, in virtue of the equality

$$R = \frac{ba}{1-c} + a + 1 \frac{!}{\eta},$$

we see that

$$d(f_3, f_0) = (ba + a + 1)\eta < R,$$

since 0 < c < 1.

Lemma 2. Prove that

(1) d(f_n, f₀) < N1;
(2) The function [f_{n−1}, f_n, X] is inverses

$$\|[f_{n-1}, f_n, X]^{-1}\| \leq \frac{\beta}{1 - \omega(d(f_{n-1}, f_{-1}), d(f_n, f_0))} \leq \frac{\beta}{1 - \beta \omega(R + \alpha, R)^{2}}$$
(15)

Vol. 71 No. 4 (2022) http://philstat.org.phc (3) $||X(f_n)|| \le \omega(2N1, 2N1)d(f_n, f_{n-1});$

(4)
$$d(f_{n+1}, f_n) \leq cd(f_n, f_{n-1}),$$

for all $n \ge 3$.

Proof. The verification of the conditions 1–4 of Lemma 2 follows by induction on *n*. For the case n = 3, the condition $d(f_n, f_0) < R$ is obvious from Lemma 1. To prove 2 when n = 3, we consider a geodesic ϕ_3 satisfying $\phi_3(0) = f_0$ and $\phi_3(1) = f_3$. Then, from (3) we have

$$\begin{aligned} \| [f_2, f_3, X] \circ F_{\phi_3, 0, 1} - F_{\phi_3, 0, 1} \circ [f_{-1}, f_0, X] \| &\leq \omega(d(f_2, f_{-1}), d(f_3, f_0)) \\ &\leq \omega(d(f_2, f_0) + d(f_0, f^{-1}), d(f_3, f_0)) \end{aligned}$$

and so, by (4), (11), and Lemma 1, it may be concluded that

$$\|[f_2, f_3, X] \circ F_{\phi_3, 0, 1} - F_{\phi_3, 0, 1} \circ [f_{-1}, f_0, X]\| \le \omega(\alpha + R, R).$$

Proceeding as in the proof of (7) one obtains that $[f_2, f_3, X]$ is invertible and

$$\|[f_2, f_3, X] - 1\| \le \frac{\beta}{1 - \omega(d(f_2, f_{\underline{1}}), d(f_3, f_0))}$$
(16)

$$\leq \frac{1}{1 - \beta \omega (R + \alpha, R)'} \tag{17}$$

which is (15) for n = 3, and (3), it follows that

$$\begin{aligned} \|X(f_3)\| &\leq \|[f_2, f_3, X] \circ F_{\lambda_3, 0, 1} - F_{\lambda_3, 0, 1} \circ [f_1, f_2, X]\| \|v_2\| \\ &\leq \omega(d(f_2, f_1), d(f_3, f_2))d(f_3, f_2) \\ &\leq \omega(d(f_2, f_0) + d(f_1, f_0), d(f_3, f_0) + d(f_2, f_0))d(f_3, f_2), \end{aligned}$$

and consequently

$$||X(f_3)|| \le \omega(2R, 2R)d(f_3, f_2).$$

Hence, (2), and (16), we obtain

$$d(f_4, f_3) = \|v_3\|$$

$$\leq \|[f_2, f_3, X]^{-1}\| \| \| X(f_3) \|$$

$$\leq \frac{\beta \omega(2R, 2R)}{1 - \beta \omega(R + \alpha, R)} d(f_3, f_2),$$

 $d(f_4, f_3) = c d(f_3, f_2).$

which, by definition of *c*, yields

This completes the proof for n = 3; if new case n > 3, Lemma 2 satisfies in k = 3, ..., n, we have

d(f_k, f₀) < R;
 The given function [f_{k-1}, f_k, X] is reciprocal to each other

$$\|[f_{k_{-1}}, f_k, X]^{-1} \le \frac{\beta}{1 - \omega(d(f_{k-1}, f_{-1}), d(f_k, f_0))} \le \frac{\beta}{1 - \beta\omega(R + \alpha, R)};$$

(3) $||X(f_k)|| \leq \omega(2R, 2R)d(f_k, f_{k-1});$

(4)
$$d(f_{k+1}, f_k) = c d(f_k, f_{k-1}),$$

in $k \in \{3ton\}$, the procedure for Mathematical Induction k = n + 1, thus obtain,

$$d(f_{k+1}, f_k) \leq c^{k-2} d(f_3, f_2),$$

with,

$$d(f_{n+1}, f_0) \leq d(f_{n+1}, f_n)_1 + \dots + d(f_3, f_2) + d(f_2, f_0)$$

$$\leq \frac{1 - c^{n-1}}{1 - c} \frac{d(f \ f \)}{3, \ 2 \ + \ 2, \ 0} \cdot d(f \ f \)$$

$$d(f \ , f \) \leq \frac{1 - c^{n-1}}{1 - c} \frac{ab}{\eta + \ + \ \eta} + \frac{1}{\eta}$$

$$< \frac{-ab}{1 - c} + a + 1 \frac{1}{\eta}$$

$$= R.$$
(18)

The point lies between ϕ_{n+1} with $\phi_{n+1}(0) = f_0$ to $\phi_{n+1}(1) = f_{n+1}$. Thus, the ω -property, (18), from Mathematical Induction, if prove that

$$\begin{split} \|[f_n, f_{n+1}, X] \circ F_{\phi_{n+1}, 0, 1} - F_{\phi_{n+1}, 0, 1} \circ [f_{-1}, f_0, X]\| &\leq \omega(d(f_n, f_{-1}), d(f_{n+1}, f_0)) \\ &\leq (d(f_n, f_0) + d(f_0, f_{-1}), d(f_{n+1}, f_0)) \\ &\leq \omega(\alpha + R, R). \end{split}$$

The reference as (7), it defined $[f_n, f_{n+1}, X]$ is each other to inverses

$$\begin{split} \| [f_n, f_{n+1}, X]^{-1} \| &\leq \frac{\beta}{1 - \omega(d(f_n, f_{-1}), d(f_{n+1}, f_0))} \\ &\leq \frac{\beta}{1 - \beta \omega(R + \alpha, R)} \\ \| X(f_{n+1}) \| &\leq \| [f_n, f_{n+1}, X] \circ F_{\lambda_n, 0, 1} - F_{\lambda_n, 0, 1} \circ [f_{n-1}, f_n, X] \| \| v_n \|, \\ \| X(f_{n+1}) \| &\leq \omega(2R, 2R) d(f_{n+1}, f_n). \end{split}$$

$$v_k = -[f_{k-1}, f_k, X]^{-1}(X(f_k))$$
 and $d(f_{k+1}, f_k) = ||v||, \quad k = 0, 1, ...,$

$$d(f_{n+2}, f_{n+1}) = \|[f_n, f_{n+1}, X]^{-1}\|\|X(f_{n+1})\|$$

$$\leq \frac{\beta\omega(2R, 2R)}{1 - \beta\omega(R + \alpha, R)} d(f_{n+1}, p_n)$$

$$\leq c \ d(f_{n+1}, f_n),$$

Hence the proof is complete.

Applications. Prove that the convergence at (p_n) is a Cauchy sequence,

$$d(f_{k+1}, f_k) \leq c^k d(f_1, f_0), \qquad k = 0, 1 \dots$$

,

1993

hence, if m < n,

$$d(f_n, f_m) \le d(f_n, f_{n-1}) + d(f_{n-1}, f_{n-2}) + \dots + d(f_{m+1}, f_m)$$

$$\le (c^{n-1} + c^{n-2} + \dots + c^m)d(f_1, f_0).$$

Since c < 1, we deduce that (f_n) be a series solution of $B[f_0, R]$, hence it is in $f_* \in B[f_0, R]$ such that (f_n) converges to f_* .

Now we show that f_{x} is a root of X. This follows directly by taking limits of both sides of the inequality

$$||X(f_n)|| \leq \omega(2R, 2R)d(f_n, f_{n-1}),$$

which is part of the conclusion of Lemma 2. To finish the proof, we prove that f_* is the unique root of X in $B[f_0, R]$. If there existed a $g_* \in B[f_0, R]$ such that $X(g_*) = 0$, we would have

$$\begin{aligned} \|[g_*, f_*, X] \circ F_{\phi, 0, 1} - F_{\phi, 0, 1} \circ [f_{-1}, f_0, X]\| &\leq \omega(d(g_*, g_{-1}), d(f_*, f_0)) \\ &\leq \omega(d(g_*, f_0) + d(f_0, f_{-1}), d(f_*, f_0)) \\ &\leq \omega(\alpha + R, R), \end{aligned}$$

here ϕ is neighboring values $\phi(0) = f_0$ to $\phi(1) = f_*$. It obtains that $[g_*, f_*, X]$ is inverse. The α is a $\alpha(0) = g_*$ with $\alpha(1) = f_*$. Then by (1),

$$[\alpha(0), \alpha(1), X] \circ F_{\alpha,0,1}(\alpha'(0)) = X(\alpha(1)) - F_{\alpha,0,1}(X(\alpha(0))) = 0$$

$$[g_*, f_*, X] \circ F_{\alpha,0,1}(\alpha(0)) = 0.$$

Since $[f_*, g_*, X]$ and $F_{\alpha,0,1}$ is inverse to each other, we obtain $\alpha'(0) = 0$. Hence $f_* = g_*$, and the proof is over.

REFERENCES

- [1] R. Castro, Higher order iterative methods in Riemannian manifolds, Ph.D. Dissertation, Uni- versidad de Santiago de Chile, Chile 2011.
- [2] S. Amat, Ioannis K. Argyros, Sonia Busquier, R. Castro, Sa^{*}id Hilout, Sergio Plaza, On a bilinear operator free third order method on Riemannian manifolds, Applied Mathematics and Computation, 219, (14), (2013), 7429–7444.
- [3] S. Amat, S Busquier, R. Castro And S. Plaza, Third-order methods on Riemannian Manifolds under Kantorovich condition, Journal of Computational and Applied Mathematics, 255 (2014) 106–121.
- [4] S. Amat, I. K. Argyros, S. Busquier, R. Castro, S. Hilout and S. Plaza, Newton-type Meth- ods on Riemannian Manifolds under kantorovich-type conditions, Applied Mathematics and Computation, 227(C) (2014) 762– 787.
- [5] S. Amat, S. Busquier, J. M. Gutiérrez: Third-order iterative methods with applications to Hammerstein equations: A unified approach, J. Computational Applied Mathematics, 235(9) (2011) 2936–2943.
- [6] S. Amat, C. Bermúdez, S. Busquier, M. J. Legaz S. Plaza, On a family of high order iterative methods under Kantorovich conditions and some applcations, AMS, 2011.
- [7] S. Amat, C. Bermúdez, S. Busquier, S. Plaza, On a third-order Newton-type method free of bilinear operators, Numer, Linear Algebra Appl, 17(4) (2010) 639–653.